
Jay had 15 marbles. Alice had 28 marbles. Ken had
10 marbles. How many more marbles did Alice have

than Jay? 
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Circle the important 
numbers in the problem.

Underline the question
in the problem.

Box the key math 
'action' words. 

What steps do you need to take?
Do you need all the information?

Solve and check your work!

How to Solve a Word Problem 
CC uu bb EE SS

Example:

28-15=13 marbles28-15=13 marbles



Jay had 15 marbles. Alice had 28 marbles. Ken had
10 marbles. How many more marbles did Alice have

than Jay? 

CC
uu
bb
EE
SS

nderline

ircle

ox
valuate / 
liminate

olve

Circle the important 
numbers in the problem.

Underline the question
in the problem.

Box the key math 
'action' words. 

What steps do you need to take?
Do you need all the information?

Solve and check your work!

How to Solve a Word Problem 
CC uu bb EE SS

Example:

28-15=13 marbles28-15=13 marbles


